

04/29/2021

Page 1 of 1

**Vendor Ranking** 

**Letting:** 03210408 April 08, 2021 2:00 PM **Call Order:** 005 **Contract:** E3U74-R0

District: District 3 Counties: HOLMES, Fed Aid No: N/A

Contract Time: 06/30/22 COMPLETION DATE WALTON, WASHINGTON Project(s): 42214327242 (\*)

Contract Desc: PONCE DE LEON MAINTENANCE - HERBICIDE MAINTENANCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	CURB APPEAL SEVICES INC	Responsive	Winning bid	\$308,157.00	100.00%
2	NATURCHEM, INC.	Responsive	Non-Winning Bid	\$376,550.00	122.19%
3	PINEY GROVE NURSERY AND LANDSCA	Responsive	Non-Winning Bid	\$392,985.00	127.53%
4	FLORIDA RIGHT OF WAY CORPORATION	Responsive	Non-Winning Bid	\$528,930.08	171.64%
5	LAGNAIPPE CONSULTING LLC	Responsive	Non-Winning Bid	\$558,942.62	181.38%
6	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$601,300.00	195.13%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY

MAXIMUM AMOUNT TO BE EXPENDED \$500,000.00





#### **Tabulation of Bids**

Page 1 of 5

**Letting:** 03210408 April 08, 2021 **Call Order:** 005 **Contract:** E3U74-R0

District: District 3 Counties: HOLMES, Fed Aid No: N/A

Contract Time: 06/30/22 COMPLETION DATE WALTON, Project(s): 42214327242 (\*)

Contract Descr: PONCE DE LEON MAINTENANCE - HERBICIDE MAINTENANCE

The improvements under this Work Document Driven Contract consist of the furnishing and application of herbicides to treat undesirable roadside vegetation along designated primary and interstate roadways at various locations within Holmes, Walton, and a portion of Washington Counties. Mobilization and Maintenance of Traffic shall be incidental to the bid items provided.

This contract has a budgetary ceiling of \$500,000.00.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Line No / Item ID Alternate Item Description	Quantity Units	(1) CURB APPE		(2) NATURO	CHEM, INC.	` '	OVE NURSERY ANDSCA
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(LARGE MACH	IINE MOWING (AC	;				
0005 E104 4 1  MOWING (REGULAR/LAR MACHINE)	10.000 RGE AC	10.00000	100.00	525.00000	5,250.00	55.00000	550.00
0010 E104 4 3 MOWING (SMALL MACHINE)	5.000 AC	20.00000	100.00	380.00000	1,900.00	55.00000	275.00
0015 E580332 99 TREE AND BRUSH REMOVAL	2.000 AC	750.00000	1,500.00	3,150.00000	6,300.00	1,200.00000	2,400.00
0020 E580337 2 HERBICIDE (STRIP APPLICATION)	2.000 AC	55.00000	110.00	1,487.50000	2,975.00	1,500.00000	3,000.00





## **Tabulation of Bids**

Page 2 of 5

Letting:	0321040	8 April 08, 2021	Cal	l Order: 005		Contract:	E3U74-R0	
	o / Item ID Al	ternate Quantity Units	(1) CURB APPI		(2) NATURO	CHEM, INC.		OVE NURSERY ANDSCA
() indica	ates item is bid as Lum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION: 0001	(LARGE MACH	INE MOWING (AC	;				
	E580337 3 DE (SPOT APPLICAT	6,000,000.000 FION < 100 SF	0.04000	240,000.00	0.03000	180,000.00	0.05000	300,000.00
HERBICID	E580337 4 DE (STRIP TION)(AQUATIC)	2.000 AC	3.50000	7.00	3,412.50000	6,825.00	1,500.00000	3,000.00
HERBICID	580337 14 DE, HAND APPLICA DLE APPLICATION, ATER		20.00000	240.00	650.00000	7,800.00	95.00000	1,140.00
	580337 15 E, HAND APPLICA 10-1000 SF	1,650,000.000 TION- SF	0.04000	66,000.00	0.07000	115,500.00	0.05000	82,500.00
HERBICID	580337 16 E, BASAL BARK TON- AREAS 100-10	1,000.000 SF 000 SF	0.10000	100.00	50.00000	50,000.00	0.12000	120.00
O	0001 LARGE MACH MOWING (	IINE Section Totals: (AC)		\$308,157.00		\$376,550.00		\$392,985.00
	Contr	act Grand Totals:		\$308,157.00		\$376,550.00		392,985.00



Page 3 of 5

# Florida Department of Transportation



## **Tabulation of Bids**

Letting	<b>g:</b> 03	210408	April 08, 2021	Cal	l Order: 005		Contract:	E3U74-R0	
	No / Item ID Description	Alternat	te Quantity Units	(4) FLORIDA RI CORPOR		(5) LAGNAIPPE LL			ESTERN CTION, INC
	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(LARGE MACH	IINE MOWING (AC	;				
0005 MOWING MACHIN		REGULAR/LA	10.000 ARGE AC	10.00000	100.00	9.00000	90.00	500.00000	5,000.00
0010 MOWING	E104 4 3 G (SMALL MA	CHINE)	5.000 AC	10.00000	50.00	18.50000	92.50	200.00000	1,000.00
0015 TREE A	E580332 99 ND BRUSH RE	EMOVAL	2.000 AC	250.00000	500.00	500.00000	1,000.00	3,500.00000	7,000.00
0020 HERBIC	E580337 2 CIDE (STRIP AI	PPLICATION)	2.000 AC	100.00000	200.00	85.00000	170.00	500.00000	1,000.00
0025 HERBIC SF)	E580337 3 CIDE (SPOT AF	PPLICATION (	6,000,000.000 < 100 SF	0.06900	414,000.00	0.07500	450,000.00	0.06000	360,000.00
	E580337 4 CIDE (STRIP ATION)(AQUA	TIC)	2.000 AC	0.04000	0.08	0.06000	0.12	2,000.00000	4,000.00
	E580337 14 CIDE, HAND AF RDLE APPLICA REATER			15.00000	180.00	20.00000	240.00	650.00000	7,800.00
	E580337 15 CIDE, HAND AF 100-1000 SF	PPLICATION-	1,650,000.000 SF	0.06900	113,850.00	0.06500	107,250.00	0.07000	115,500.00



04/29/2021

## **Tabulation of Bids**

Page 4 of 5

Lettin	<b>ng:</b> 03	3210408	April 08, 2021	Cal	l Order: 005		Contract:	E3U74-R0	
Line No / Item ID Alternate Quantity Item Description Units		(4) FLORIDA RIGHT OF WAY CORPORATION		(5) LAGNAIPPE CONSULTING LLC		(6) MIDWESTERN CONSTRUCTION, INC			
() ir	ndicates item is bio	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(LARGE MACH	IINE MOWING (AC	;				
0045	E580337 16		1,000.000	0.05000	50.00	0.10000	100.00	100.00000	100,000.00
	CIDE, BASAL B CATION- AREA		SF F						
0001 LARGE MACHINE Section Totals: MOWING (AC)				\$528,930.08		\$558,942.62		\$601,300.00	
	Wic	mito (AO)							
		Contract G	erand Totals:		\$528,930.08		\$558,942.62		601,300.00
		Contract G	irand Iotals:		<b>\$528,930.08</b>		<b>\$558,942.62</b>		601,300.00



04/29/2021

### **Tabulation of Bids**

Page 5 of 5

**Letting:** 03210408 April 08, 2021 **Call Order:** 005 **Contract:** E3U74-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.